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General Instructions : 

(i) All questions are compulsory. 

(ii) There are 30 questions in total. Questions 1 to 8 are very short answer 
type questions and carry one mark each. 

(iii) Questions 9 to 18 carry two marks each, questions 19 to 27 carry 
three marks each and questions 28 to 30 carry five marks each. 

{iv) There is no overall choice. However, an internal choice has been 
provided in one question of two marks, one question of three 
marks and all three questions of five marks each. You have to 
attempt only one of the choices in such questions. 

(v) Use of calculators is not permitted. However, you may use log 
tables if necessary. 

(vi) You may use the following values of physical constants wherever 

(i) 

(ii) 

(iii) 

(iv) 

55/2/1 

necessary : 

c = 3 x 108 m/s 

h = 6·63 x 10- 34 Js 

e = 1·6 X 10-19 C 

llo = 4n x 10-7 T m A-1 

-
1

- = 9 X 109 N m 2 c-2 

47tE 
0 

me = 9·1 x 10-31 kg 

"fr1ft JfFT a:rRcJr4 ~ I 
~ JfFT- r:r;r if fiC1 30 JfFT ~ I JfFT 1 it 8 rrcFi it JfFT 31frr- C1§3 fl<74 JfFT ~· 
31P: ~ 'f!.Cii 3fq; CfiT # I 
w.:r 9 it 18 if ~ w.:r ~ 3fq; CfiT #, w.:r 19 it 27 if ~ w.:r rfl;r 3fq; 

CfiT # ~ JfFT 28 it 30 if ~ JfFT -qfq 3fq; CfiT # I 
w.:r- r:r;r if wm w CfiT{ fclcnRr ;rtf # 1 ff2lTfrr, eft 3frii ~ ~ w.:r it, rfR 
3frii ~ ~ w.:r if 31P: rfffl' 3frii ~ rfr;ff m= if 3/JrftRCJI :qzr;r JfCFT FcPrr 
7fllT # I #{ JTFif if ~ Wr 7fir :qzr;r if it iJiw ~ JfFT '{t CfiBT # I 
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( v J #; Hj &2 < it ~ ctt 3fTlFrr ';ff/t' ~ 1 ff2lTfTr "l/fr; 3i7ct !I lien ~ rit am 

<'1~'fUICh7lJ ~ 'liT m CR Vclift if I 

(vi) ~ 3ilct!llfcn ~ am RAR1!&d ~ Rlfdicn} it 11Rf 'liT ~ CR Vc!ift 

if : 

c = 3 x 108 m/s 

h = 6·63 x 10- 34 Js 

e = 1·6 x 10-19 C 

!lo = 4n x 10-7 T m A-1 

-
1

- = 9 X 109 Nm2 c-2 

47tE 
0 

me= 9·1 x 10-31 kg 

1. Define the term 'threshold frequency' in relation to photoelectric effect. 1 

2. The peak value of e.m.f. in a.c. is E0. Write its (i) rms and (ii) average 
value over a complete cycle. 1 

Slflllctffi 'l:lro (a.c.) ~ ~-~ ~ ({.~.~.) CfiT fum l1H E0 ~ I ~ 'f: ~ 
~ ~ ~ (i) "CI1f 1111-Zr ~ (rms) ~ (ii) ~ l1H ~ I 

3. Two insulated charged copper spheres A and B of identical size have 

charges qA and qB respectively. A third sphere C of the same size but 

uncharged is brought in contact with the first and then in contact with 

the second and finally removed from both. What are the new charges 

on A and B ? 

~ (~) ~ ~ .m ~' A 3th: B ~ (~ ~) 3WITl1 (~) ~ ~ I 

~ ·1R ~ qA 3th: qB ~ ~ I itCfi ~ ~ ~ 3WITl1 (~) ~ ~ cffi:R 
3Fil~~ld ~ C cnT, ~A~~ ~ aW m B ~ ~ ~ C1P1T ~ .. ~ aW 

3R1 ~ ~ 'B ~~~~I~ AaW B 1R -;p;rr ~ Cf<IT m.rr? 

1 
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4. A narrow beam of protons and deuterons, each having the same 
momentum, enters a region of uniform magnetic field directed 
perpendicular to their direction of momentum. What would be the ratio 
of the radii of the circular paths described by them ? 1 

>l1iRT am s"?{<'>d-11 c~ oo ~ ~) Ch1 ~ OOuf c~) fctl\011\ll ~ ~ 

Q!*)BI"lH "3,kl<hlll l$r # m W ~ ~ Rm ~ ~ Chl Rm ~ <1k!C4(!_ 

~ I ~ -~'dlctll\ ~ Chl ~3if # CfliT ~ ~ ? 

5. What is the function of a 'Repeater' in a communication system ? 1 

fcfiBt ~ ~ # '~'i'UC4dctl (~)' CfiT CfliT w:fil?f ~ ? 

6. Draw the logic circuit of a NAND gate and write its truth table. 1 

NAND~~~~~ am Bflll"!H ~~I 

7. How is the mean life of a radioactive sample related to its half life ? 1 

fcf;Bt {fu~l~fc:R:q ~ <~) . q,l ~ ~ CfiT ~ 31~-~ ~ CfliT ~'l:l mm 
~ ? 

8. Write two uses of microwaves. 

~~~~~~ 

9. Calculate the amount of work done in rotating a dipole, of dipole 
moment 3 x 10-8 em, from its position of stable equilibrium to the 
position of unstable equilibrium, in a uniform electric field of intensity 

1 

104 N/C. . 2 

~ fu~ CfiT fu~-~ 3 x 10-8 em ~ 1 ~ 104 N/C ~ ~ ~ctlBl"!H ~ 

l$r #, ~ ~ ~ wmr it 3WWft ~ wmr W'fi ~ # ~ ~ cw:r 
CfiT qf{q)<'J'i ~ I 

10. Plot a graph showing temperature dependence of resistivity for a 
typical semiconductor. How is this behaviour explained ? 2 

fcf;Bt ~ (kfY4l<1) 31~ q,l >rfuit'l:lCfi"ffi CfiT mq ~ ~ qf{q<f'i ~ ~ ft;m: 

~ mlfi (OJP) ~ ~ ~ q,l ~ ~ q,l ~ ~ ? 
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11. When four hydrogen nuclei combine to form a helium nucleus, estimate 
the amount of energy in MeV released in this process of fusion. 
(Neglect the masses of electrons and neutrinos) 2 
Given: 

(i) mass of iH = 1·007825 u 

(ii) mass of helium nucleus = 4·002603 u, 1 u = 931 MeV/c2 

~~~~l\J\<1 ~ T.fR ~ ~ ~ c~) ~lr~~~ cnr ~ ~ m if ~ ~ 
CfiT (MeV if), qf{Cflc?H ~ I (~~Cf?l'il C12IT ~ ~ S::Oli~Hl c€f ~ ~ 
~) . 

fu:<:rr~: 

(i) iH CfiT S::Oli~H = 1·007825 u 

(ii) Qlf~~~ ~ CfiT S::Ol!~H = 4·002603 u, 1 u = 931 MeV/c2 

12. For an amplitude modulated wave, the maximum amplitude is found 

to be 10 V while the minimum amplitude is 2 V. Calculate the 

modulation index. Why is modulation index generally kept less than 

one? 

fc.nfiT a:.n<Wf ~~~,fC?Ict crtrr CfiT 31[~ a:.n<Wf 10 v am: ~ a:.n<Wf 2 v t -ill 
~ *filc:tliCfl CfiT ~ qf{q;fC1ct ~ I ~~~C?H *filc:tliCfl ~ ~ c€f ~ (1) it Cfil1 Cf<IT 
mT~~? 

13. Draw a block diagram showing the important components in a 

2 

communication system. What is the function of a transducer ? 2 

~ ~ 3TIW ~ fc.nfiT Wm:-~ ~ ~~~'{of wiT (~) c€f ~ 
? I '""fi :S.._'{fH cp:rr 'CfimT ~ ? 

14. Explain the following : 2 

(i) Why do magnetic lines of force form continuous closed loops ? 

(ii) Why are the field lines repelled (expelled) when a diamagnetic 
material is placed in an external uniform magnetic field ? 

OR 

(i) Name the three elements of the Earth's magnetic field. 

(ii) Where on the surface of the Earth is the vertical component of 
the Earth's magnetic field zero ? 2 
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Rk1f~f~C1 q;l ~ ~ : 

(i) 1~chll! ~ (~) ~ -mrn ~ ~ cp;ff ar.mfr ~ ? 

(ii) >1fct1~chlll ~ q;l 1%-m l!>Cflfi4H 7iffW 1~cnll! ~ if ~ 'q\ ~cnll! ~ 
(~) ~ Cflll MCflfttC1 mill ~ C~ ~ ~) ? 

~ 

(i) ~~ ~ 1~chll! ~ ~ "ffi;:r ~ ( ~) ~ -;rrq mfurQ: I 

(ii) ~~ ~ ~ (~) 'q\, ~ 1R, ~~ ~ 1~chll! ~ ~ ~~~ ~ (~) 
CfiT l1R ~ -mm ~ ? 

15. Show how the equation for Ampere's circuital law, viz. 

T B.dl = ~0 I 
is modified in the presence of displacement current. 2 

~ ~ fcfi ~ ~ ~ Wm J B. dl = ~o I, fcf~:~llq'i ~ mu cn1 

~ if tB ~ql'"f1RC1 -mm ~ ? 

16. Current in a circuit falls steadily from 5·0 A to 0·0 A in 100 ms. If an 
average e.in.f. of 200 V is induced, calculate the self-inductance of the 
circuit. 2 

1%-m ~ if ~ mu CfiT l1R ft:.li.R ~ -B 100 ms if 5·0 A -B 0·0 A d"Cfl Cfi11 m 
7jjTffi ~ 1 ~ ~ ~ ~ ~ ~ ct~.~.) 2oo v m, -m -qftq~ ~ ~-~ 
CfiT qf{Cf)(.1'i ~ 

17. (a) You are required to select a carbon resistor of resistance 
4 7 kn ± 10% from a large collection. What should be the 
sequence of colour bands used to code it ? 

(b) Write two characteristics of manganin which make it suitable for 
:m,aking standard resistances. 2 

(a) 3W1CflT ~ ~ ~ ~ ~ ~ if -B 47 kn ± 10% ~ CfiT ~ 

mmt~~~ I ~quf~if ~~~Cfif~CAT~~? 

- (b) -rfrrf.R ~ ~ cJ :rrr (~) ~ ~ CfiT\UT ~ l1RCii ~ q;l ~ 

~~~-mm~ 1 
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18. Two identical parallel plate (air) capaCitors cl and c2 have 

capacitances C each. The space between their plates is now filled with 

dielectrics as shown. If the two capacitors still have equal capacitance, 

obtain the relation between dielectric constants K, K1 and ~· 

• • I I 
I l/2 I 
I I 

l T 

I 
I 
I 
I ... 

d d 

GT ~ (~ it) ~ {"{~HR ~ (W) "ftmfuff, C1 3fu: C2 if ~ ctf ~ 

c ~ 1 ~ ~:m c~) ~ ~ ~ ~ c€t ~ em) if ~ ~ ~ 
q ~J~ 'g(l ~ it 'lR fc:1T ~ ~ I 71fG: 3W ~ cJ;lf "ftmfuff cit ~ 31l'ffi if 
~ (WiR) m, m q{l~~(ljq)'j K, K1 ~2ll K2 ~ ~ if ~ >flL{f ~ 

• • ·--- ---- c2 I I 

I l/2 I 
I I 

l T 

I 
I 
I 
I ... 

... 
d d 

19. State the principle of the device that can build up high voltages of the 

order of a few million volts. Draw its labelled diagram. A stage 

reaches in this device when the potential at the outer sphere cannot 

2 

be increased further by piling up more charge on it. Explain why. 3 

~ ~ CfiT f~<>&H"1 ~ ~ ¥9 flif~4'"1 .~ cn)g Chl ~ ~ >flL{f cit ~ 

~ ~ I ~ ~ CfiT ~ '"ll~ifch(l ~ (m) ~ I ~ ~ if ~ ~ WWT 
31T -mffi ~' ~ ~ .nB ~ fcrl:rq. en) 31['~ ~ ~ 3fu: 31['~ ~ ~ ~ 

~~~~1%V:m"Cf41~~ 
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20. Light of wavelength 2000 A falls on a metal surface of work function 
4·2 eV. What is the kinetic energy (in eV) of the fastest electrons 
emitted from the surface ? 
(i) What will be the change in the energy of the emitted electrons if 

the intensity of light with same wavelength is doubled ? 
(ii) If the same light falls on another surface of work function 6·5 e V, 

what will be the energy of emitted electrons ? 

2000 A cttJI~&f CfiT >1c1im ~ CfiT ~ -Q:Bt ~ 1R coCfl{ldl ~ ~ Cfil7-f-~ 
"' 4· 2 e v ~ I ~ ~ -rnr 3 ffi~d. ~ cwnf'i:1cli -Err CDB) $ <'ict{f .. j'j ctt ~ ~ 

( e V #) fcfKRT irft ? 

(i) 3ffi~ct $<'1~1.-i'i ctt ~ if <F1T qftqJ<i ~ 71ft!: m cttJI~&t ·~ >1clim ctt 
~ CfiT ?J :f'1T ~ m ~ ? 

(ii) 71ft!: ~ .~ ~ 3P1 -Q:"ffi ~ 1R ~ ~ Cfil7-f-~ 6·5 eV m, "ffi 
3 C"8 ~ d ~<')~~oil ctt ~ fcfKRT mlfr ? 

21. N arne the important processes that occur during the formation of a p-n 
junction. Explain briefly, with the help of a suitable diagram, how a 
p-n junction is formed. Define the term 'barrier potential'. 

p-n m~ ~ f.:r:!fuT ~ ~ ~ cn-ffi ~ ~an (~) CfiT ~ ~ I ~ ~ 
31JW (m) ct1" f!Qil!ctl -B" ~ ~ fcn p-n m~ CfiT f.:r:!fuT tB men ~ I 'Uf'i:lCfif 
fa;'qq' ct1" lffi'lWIT ~ I 

22. The intensity at the central maxima (0) in a Young's double slit 
experiment is I0. If the distance OP equals one-third of the fringe 

. I 
width of the pattern, show that the intensity at point P would be : . 

. s I p~ 
~ 1 ·o~ 
d ~--------------------------------~ 

l.s 

2 r------------------ D 

OR 

In the experiment on diffraction due to a single slit, show that 

(i) the intensity of diffraction fringes decreases as the order (n) 
Increases. 

(ii) angular width of the central maximum is twice that of the first 

3 

3 

3 

order secondary maximum. 3 
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~ wu r;ro ~ it m if ~ ~ fcfl, 
(i) ~ (~) (n) it ~ it ~ ~ ~ ~ Cfi1i m 7jf[(ft" ~ I 

(ii) ~ ~ ctt ~ ~ wm ~ (~) ~ f~c-ii~Ch ~ -?r ~ mm 
~I 

23. Find the position of the image formed of the object '0' by the lens 
combination given in the figure. 3 

f= + 10 -10 + 30cm 

~5 cm-))fE-jE--10 em----;o~)j 

f= + 10 -10 + 30 em 

~ 5 em * 10 em ----;o~)l 
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24. Draw transfer characteristics of a common emitter n-p-n transistor. 
Point out the region in which the transistor operates as an amplifier. 

Define the following terms used in transistor amplifiers : 

(i) Input resistance 

(ii) Output resistance 

(iii) Current amplification factor 

~ dffi'lfCfl (m.{) fcpm:r if M n-p-n ~iDl~\ ~ ~ ~ ~ 
"3"B ~ C!iT ~ ~ ~j[-sj~\ ~ c€r 'l1fflr Slillf~d men em Cfi«<T) ~ 

~i[~~\ ~ if Rkif~f~a ~ c€r -qft'lWfl ~ 

(i) ~ >rfuit~ 

(ii) f.rfu ~ 

(iii) ~ Wf$rr ~ 

25. (i) Light passes through two polaroids P 
1 

and P 
2 

with pass axis of P 
2 

making an angle 8 with the pass axis of P 
1

. For what value of 8 

is the intensity of emergent light zero ? 

(ii) A third polaroid is placed between P 
1 

and P 
2 

with its pass axis 

making an angle ~ with the pass axis of P 1" Find a value of~ for 

. Io 
which the intensity of light emerging from P 

2 
is B, where I

0 
is 

the intensity of light on the polaroid P 
1

. 

(i) ~ Wfim ~ '?J Yl~\1$-sl P 1 aW P2 it ~ ~ ~ I P2 c€f '1Tfur 3W, 

P 1 c€r '1Tfur 3W it 8 C!iTur ~ ~ I 8 ~ fcR1 l1R ~ fc;m: f.rfu ( q 1 (liMd) 

Wfim qfr ~ q)f l1R ~ ~ ? 

(ii) P 1 afu: P 2 ~~if~~ 41~d$s ~ m ~ ~ ~ fcn ~ '1Tfur 
aw, P1 c€r '1Tfur aw it ~ C!iTur ~ ~ 1 ~ q)f ~ l1R ~ ~ ~ 

1R P2 ~ ~ RCfl<'~~ ~ wnm c€r ~ ~ m, (~ I 0 4l~<T~:s P1 1R 
8 

Wfim c€f ~ ~) I . 
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26. Using the postulates of Bohr's model of hydrogen atom, obtain an 
expression for the frequency of radiation emitted when the atom makes 
a transition from the higher energy state with quantum number n. to 

1 

the lower energy state with quantum number nf (nf < n). 3 

t:)I~~~'JH ~ ~ ~ ~ ~ ~ ~ ~ it 3C'flf11C1 ~fch{UI ctt ~ ~ 
ft;rQ: ~ ~ ~ ~ ~ ~ M ~ CMI'"2:li ~ ni ~ ~ ~ it 
M ~ CMI'"20li ~ nr ~ ~ «R 4 ~ Cfl{(TI ~ (nr < ni) I 

27. State the underlying principle of a potentiometer. 

Describe briefly, giving the necessary circuit diagram, how a 
potentiometer is used to measure the internal resistance of a given 
cell. 3 

~ (cfl2f..~llli4lc:{) ~ fBO&l'fl 'R cnf4 Cfl{(TI ~' ~ I 

3ilct~l!Cfi ~ ~ ,ctt flt:!ll!C11 it ~ 4 quf;r ~ fct ~ CfiT ~ fcfim 
iK1 CfiT 3"l H1 RCfi >rfuU<tT ~ ~ ft;rQ: ~ ~ ~ ~ I 

28. (a) Show that a plan~.r loop carrying a current I, having N closely 
wound turns and area of cross-section A, possesses a magnetic 

~ ~ 
moment m = N IA. 

~ 

(b) When this loop is placed in a magnetic field B, find out the 
expression for the torque acting on it. 

(c) A galvanometer coil of 50 n resistance shows full scale deflection 
for a current of 5 rnA. How will you convert this galvanometer 
into a voltmeter of range 0 to 15 V ? . 5 

OR 

(a) Draw a schematic sketch of a cyclotron, explain its working 

principle and deduce the expression for the kinetic energy of the 

ions accelerated. 

(b) Two long and parallel straight wires carrying currents of 2 A and 

5 A in the opposite directions are separated by a distance of 1 em. 

Find the nature and magnitude of the magnetic force between 

them. 5 
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' ~ ~ 

(a) ~ ~ fcn ~ ~ 11m (~) 'fiT 101chl""l ~' m = N IA men 
~I m# l{ffi-<m:r futrZ itiU q,1 ~ N ~I ~ CfiTZ 'fiT ~ A ~ 3fu: 
~ r fclwr 'elm ~ -m WT ~ , 

~ 

(b) ~ ~ (lim) ~ fchW 1klCf"ll""l ~ B if ~ ~ ~ ~ wR crrB <iH?liE[uf 

ih fu"Q: ~ >fT1=n ~ I 

(c) M ~('Cl<il'"li2:{ q,1 ~ 'fiT m~ 50 Q ~ I 5 rnA q,1 'elm it ~ ·~ 
~ if fcWr1 -m ~ ~ , ~ ~<?Cl•-i1412:{ ~ :mq o- 1s v 11m1 ih <:il~2:l"Jl2:{ 

if tit qf{qRjCj ·~ ? 

3l~ 

(a) BI~Ckll~T'"l 'fiT ~ ~ ~ (~) ~ I ~ CfillTCfliD rB"iJ\1'"{1 ~ ~ 

~ 3fu: ~ cnuiT q,1 ~ ~ ih fu"Q: o$rcn ~ (>fT1=n) ~ I 

Cb) ~ ~ lii~lr{l{ mit c=rm it ~ 2 A 3fu: s A q,1 ~ mmt futRm rtman 
if ~ m Wr ~ I ~ ~ c=rrU ih ~ q,1 ctf 1 em ~ W ~ ~ 1kl6hl""l 

~ q,1 >fCJlfu 3fu: ~ ~ ~ ~ I 

29. (a) Derive the expression for the mutual inductance of two long 
coaxial solenoids of same length l having radii r 1 and r 2 
(r2 > r 1 and l >> r 2). 

(b) Show that mutual inductance of solenoid 1 due to solenoid 2, 
M12, is the same as that of 2 due to 1 i.e. M21 . 

(c) A power transmission line feeds power at 2200 V with a current 
of 5 A to a step down transformer with its primary winding 
having 4000 turns. Calculate the number of turns and the 
current in the secondary in order to get output power at 220 V. 5 

OR 

(a) An alternating voltage v = vm sin mt applied to a series LCR 
circuit drives a current given by i = im sin (mt + ~). Deduce an . 
expression for the average power dissipated over a cycle. 

(b) For circuits used for transporting electric power, a low power 
factor implies large power loss in transmission. Explain. 

(c) Determine the current and quality factor at resonance for a series 
LCR circuit with L = 1·00 mH, C = 1·00 nF and R = 100 n 
connected to an a.c. source having peak voltage of 100 V. 

' 55/2/1 12 
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(a) 

(b) 

(c) 

G) ~ ~ qft<ilf~CfllaTI ~ ~ ~ ~ fuQ: ~ ~ (~) 
' ...;;> 

~~ ~ ~ Ch1 ~ l m 31R ~ ~ ~ rl C12IT r2 m, 
(r2 > r 1 Cl2lT l >> r 2) I 

~ ~ fcfi qft<ilf~Cfll 2 ~ CWUT, qft<ilf~Chl 1 ~ ~ ~ (M12) 

CfiT llR C"ftr ~ if qft<ilf~Cfll 1 ~ CfiRUT qft<ilf~Chl 2 ~ ~ ~ (M21) 

CfiT ~ I 

~ ~ m ~ ~ mr fcRft ~ ~i*lCflT* ct1 22oo v 31R 
5 A mu ~ ~ >r?R Ch1 \!IT W\" ~ I ~ ~i{=lCflTJOh "Ch1 m~ ¥ffi if 
4000 ip: ~ I 22 0 V CfiT f.:rP:1 ~ ~ ~ fuQ: f&: ,j! '4 Cfl ~ if iRf Chl 

...;;> 

~ 31R ~ ~ mu ~ 1=fR CfiT qftct1C1<i ~ 1 

3T?.1CTT 

(a) fcRft WriT LCR -qftq~ ~ ~ (~~) ~ >lf""liCictf fcrqq, v = vm sin rot 

~ CfiRUT ~~ ~ 'tTRT, i = im sin (cot + $) ~ mffi ~ I ~ ~ if 
~ ~ ~ ~ fuQ: ~ ~ (~) ~ I 

Cb) ~ m ct1 ~ ~ ~ ~ ~ (lCf) ~ ~ c~) ~ Wm: ~ 
-qftq~ ~ m-~ ~ COB ~ CfiT ~ ~ if ;m~ m ~ men-
~ I ~ Cfi2Fr Chl ~ ~ I 

(c) ~ WriT LCR ~ ~ fuQ:, L = 1·00 mH, C = 1·00 nF C12IT R = 100 Q 

~ 1 ~ ~ ~ >lf""liCiffl mu (a.c.) ~ -B ~ 'fliT ~ ~ f.oo\ ~ 
100 v ~ 1 ~ -qftq~ ~ fuQ:, ~ Ch1 WTfu if, mu c=rzrr 2a1Cifil ~ 

CfiT 1=fR ~ ~ I 

30. (i) A plane wavefront approaches a plane surface separating two 

media. If medium 'one' is optically denser and medium 'two' is 

optically rarer, using Huygens' principle, explain and show how a 

refracted wavefront is constructed. 

(ii) Hence verify Snell's law. 

(iii) When a light wave travels from a rarer to a denser medium, the 

speed decreases. Does it imply reduction in its energy ? Explain. 5 

OR 
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(i) A ray of monochromatic light is incident on one of the faces of an 
equilateral triangular prism of refracting angle A. Trace the path 
of ray passing through the prism. Hence derive an expression for 
the refractive index of the material of the prism in terms of the 
angle of minimum deviation and its refracting angle. 

(ii) Three light rays red (R), green (G) and blue (B) are incident on 
the right angled prism abc at face ab. The refractive indices of 
the material of the prism for red, green and blue wavelengths are 
respectively 1·39, 1·44 and 1·47. Trace the paths of these rays 
reasoning out the difference in their behaviour. 

(i) 

(ii) 

(iii) 

(i) 

55/2/1 

a 

B-~~--l 

G-~----1 

b 
c 

1I,Cfi ~ ~, t!T ~ em~ '1I,Cfi' am 't!T') cnr "'2~ ~ qffi 1I,Cfi 

~ ~ cn1 am: ~ wr ~ 1 71fG ~ '1I,Cfi' >!Cfll~ld: ~ am ~ 't!T' 
J>ICfll~ld: ~ m, -m ~~~~'"'8 ~ r~os:l'""d ~ ~ it ~ rcn 3"jqqffi(j ~ 

cnl rq.rr ~ cnl ~ ~ I 

~ ~ ~ ~ CfiT '8f'41q'i ~ I 

~ ~ ~ rcnm ~~it rcnm ~ m~ if m cwrr ~ -m ~ 
-:qffi Cfil1 m- ~ ~ CF1f ~ ~ ~ ~ rcn ~ ~ Cfil1 m- ~ 
~?~~~ 

3l~ 

Q!t)qOIT ~ cnl 1I,Cfi ~ fcnm ~ fStci) OJl lj ~ ~ 1I,Cfi ~ 'R ~ 

men ~ I ~ ~ ~ ~ it ~ ~ ~ lWf CfiT 31j{~ol ~ (cnT 
~) I 71fG ~ CfiT ~ ~ A QT W ~ A~ ~ (~) 
fq~ (1 'i ~ ~ w if' ~ ~ -qzy.f ~ 34 q qd'iiCfl ~ ft;m: 1I,Cfi o$Jq; ~ 

(>rrt(f) ~ I 
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(ii) %m '8i0fchlonlJ ~ abc ~ ~ ab tR ffi;:r ~ ctt ~' ~ (R), ~ 
(G) "ff?fr ti (B) ccti{ldl (~ iffit) ~ I ~, ~ afu: -;fiB t7T ~ ~ 
~ ~ ~ ~ 3!4cl(tOOJicti ~ 1·39, 1·44 ~ 1-47 ~ I ~ ~· ~ miff. 
tit ~ I ~ 1iffifq ~ 3MR CfiT CfiT{Tif ~ I 

55/2/1 

a 

B-_.,.._--1 

G-_.,.._--1 

R-~--1 

b c 
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